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QUESTION 1

A company needs to Increase its Infrastructure capacity quickly to accommodate their rapid business growth. Which
cloud use case describes their requirement? 

A. Maintain and Modernize 

B. Consolidate and Migrate 

C. Disaster Recovery 

D. Maintain and Expand 

Correct Answer: A 

https://www.vmware.com/mena/topics/glossary/content/digital-transformation.html 

 

QUESTION 2

A cloud administrator needs to configure a VM storage policy for virtual machines that will host a business critical
application. The environment consists of a single cluster with six hosts. The application is storage I/O intensive and
redundancy must be provided at the highest level possible. 

Which VM storage policy settings should the administrator configure to meet these requirements? 

A. RAID-1 FTT = 3 

B. RAID-1 FTT = 2 

C. RAID-5 

D. RAID-6 

Correct Answer: B 

RAID-1 is a mirror configuration that provides high availability by creating multiple copies of a VMDK. RAID-5 and
RAID-6 are erasure coding configurations that provide fault tolerance by distributing data and parity across multiple
hosts. The 

number of failures to tolerate (FTT) determines how many copies or parity blocks are created for each VMDK. For
example, RAID-1 FTT = 2 means that there are three copies of each VMDK. 

Therefore, based on your requirements, a possible VM storage policy setting could be RAID-1 FTT = 2, which would
provide redundancy at the highest level possible with six hosts. 

https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-center-
vms.doc/GUID-EDBB551B-51B0-421B-9C44-6ECB66ED660B.html 

 

QUESTION 3

A Cloud Administrator is managing a VMware Cloud environment consisting of a single cluster with to hosts. The
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administrator is trying to create a new virtual machine and is getting the following error message: cannot complete file
creation 

operation. There are currently 2 unable failure domains. the operation requires 3 more usable fault domain. 

failed to create object. 

A. The VM storage policy is configured Incorrectly for the cluster. 

B. There is insufficient CPU and memory based on the current virtual machine resource reservation settings. 

C. One of the hosts is in maintenance mode. 

D. vSphere Distributed Resource Scheduler (DRS) is enabled. 

Correct Answer: C 

The error message that the Cloud Administrator is receiving indicates that the cluster is not able to meet the
requirements of the new virtual machine due to insufficient fault domains. The most likely cause of this is that one of the
hosts is in maintenance mode. When a host is in maintenance mode, it is not available to the cluster, and thus cannot
provide the necessary fault domains. To correct this issue, the Cloud Administrator should ensure that all hosts in the
cluster are available and not in maintenance mode before attempting to create the new virtual machine. Reference: [1] h
ttps://docs.vmware.com/en/VMware-Cloud-on-AWS/services/VMware-Cloud-on-AWS-Outposts/GUID-host-maintenance-
mode.html 

 

QUESTION 4

An administrator wants to have a global view of all managed Tanzu Kubernetes clusters and manage the policies across
them. Which solution would the administrator use? 

A. VMware Tanzu Mission Control 

B. VMware Tanzu Observability by Wavefront 

C. VMware Tanzu Service Mesh 

D. VMware Tanzu Kubernetes Grid 

Correct Answer: A 

VMware Tanzu Mission Control provides a central platform to manage and view all Tanzu Kubernetes clusters and
workloads running in the environment. It allows administrators to set policies across multiple clusters, set up cluster
identities, monitor cluster health and performance, and much more. Tanzu Mission Control also provides access to a
variety of cloud-native tools, such as Kubernetes Dashboard, Helm, and Kubeapps. 

Publishing Applications with VMware Horizon 7
https://vcdx.vmware.com/content/dam/digitalmarketing/vmware/ru/pdf/techpaper/vmware- horizon-7-application-
publishing.pdf 

VMware Technical Support Guide https://www.vmware.com/pdf/techsupportguide.pdf 

Quick-Start Tutorial for VMware Dynamic Environment Manager ... https://techzone.vmware.com/resource/quick-start-
tutorial-vmware-dynamic-environment- manager "VMware Tanzu?Mission ControlTM is a centralized management
platform for consistently operating, managing, and securing Kubernetes infrastructure and modern applications across
teams and clouds. It provides a global view of all of the Kubernetes clusters. You can use the resource hierarchy to
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manage and enforce consistent policies across Kubernetes clusters. " 

 

QUESTION 5

A cloud administrator is looking for a unified solution to collect and analyze security events for troubleshooting from:
VMware vSphere Windows Operating Systems Physical servers Web servers Database servers Amazon Web Services
Which VMware Cloud service can meet this requirement? 

A. VMware vRealize Automation Cloud 

B. CloudHealth Secure State 

C. VMware vRealize Log Insight Cloud 

D. VMware vRealize Network Insight Cloud 

Correct Answer: C 

https://blogs.vmware.com/management/2022/08/forwarding-vsphere-audit-and-authentication-events-from-vrealize-log-
insight-to-a-siem.html 
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